zadani 47:

φA = 49°09'57,177"

λA = 12°27'43,765"

αAB = 272°04'01,093"

sAB = 694141,67 m
polomer nahradni koule

R = 6380457,160448887 m
bod B na kouli

φB = 48° 59' 54,92"
λB = 2° 56' 32,78"
αBA = 84° 51' 58,61"
bod B na elipsoidu 
φB = 48° 59' 56,06"
λB = 2° 57' 21,61"
αBA = 84° 52' 35,49"
prusecik s 0 polednikem

φP = 48°47'08,9994''
λP = 0°00'00,0000''
αAP = 262°38'56,5045''
sAP = 912153,953080901
prusecik s rovnikem

φR = 0°00'00,0000''
λR = -80°04'19,1396''
αAR = 220°53'48,2429''
sAR = 10192782,3679408 m
